On some properties of nonlinear functional parabolic equations*

László Simon

L. Eötvös University of Budapest, Hungary

Received October 10, 2008; accepted February 18, 2009

Abstract. We consider second order quasilinear parabolic equations where also the main part contains functional dependence on the unknown function. Existence and some qualitative properties of the solutions are shown.

 $AMS\ Subject\ Classifications:\ 35R10$

Keywords: Parabolic functional equation; Monotone operator; Qualitative property.

1. Introduction

This work was motivated by works where nonlinear parabolic functional differential equations were considered which arise in certain applications. (See references in [4].) In [4] existence theorems and some qualitative properties were proved on solutions to initial value problems for the functional equations (connected with the above applications)

$$D_t u - \sum_{i=1}^n D_i[a_i(t, x, u(t, x), Du(t, x); u)] + a_0(t, x, u(t, x), Du(t, x); u) = f.$$
 (1.1)

The aim of the present paper is to formulate existence theorems if certain modified (in some sense more general) assumptions are fulfilled and to show further qualitative properties of solutions to such equations.

E-mail address: simonl@ludens.elte.hu (L. Simon)

 $^{^*}$ This work was supported by the Hungarian National Foundation for Scientific Research under grant OTKA T 049819.

2. Existence of solutions

Denote by $\Omega \subset \mathbb{R}^n$ a bounded domain having the uniform C^1 regularity property (see [1]), $Q_T = (0,T) \times \Omega$ and $p \geq 2$ be a real number. Let $V \subset W^{1,p}(\Omega)$ be a closed linear subspace of the usual Sobolev space $W^{1,p}(\Omega)$ (of real valued functions). Denote by $L^p(0,T;V)$ the Banach space of the set of measurable functions $u:(0,T)\to V$ with the norm

$$\| u \|_{L^p(0,T;V)}^p = \int_0^T \| u(t) \|_V^p dt.$$

The dual space of $L^p(0,T;V)$ is $L^q(0,T;V^*)$ where 1/p+1/q=1 and V^* is the dual space of V (see, e.g., [6]).

On functions a_i assume

- (A_1) . The functions $a_i: Q_T \times \mathbb{R}^{n+1} \times L^p(0,T;V) \to \mathbb{R}$ satisfy the Carathéodory conditions for arbitrary fixed $u \in L^p(0,T;V)$ (i=0,1,...,n).
- (A_2) . There exist bounded (nonlinear) operators $g_1:L^p(0,T;V)\to\mathbb{R}^+$ and $k_1:L^p(0,T;V)\to L^q(\Omega)$ such that

$$|a_i(t, x, \zeta_0, \zeta; u)| \le g_1(u)[|\zeta_0|^{p-1} + |\zeta|^{p-1}] + [k_1(u)](x)$$

for a.e. $(t, x) \in Q_T$, each $(\zeta_0, \zeta) \in \mathbb{R}^{n+1}$ and $u \in L^p(0, T; V)$.

$$(A_3). \quad \sum_{i=1}^{n} [a_i(t, x, \zeta_0, \zeta; u) - a_i(t, x, \zeta_0, \zeta^*; u)](\zeta_i - \zeta_i^*) \ge [g_2(u)](t)|\zeta - \zeta^*|^p \quad (2.1)$$

where

$$[g_2(u)](t) \ge c^* [1 + ||u||_{L^p(0,t;V)}]^{-\sigma^*}, \quad t \in [0,T]$$
 (2.2)

 c^* is some positive constant, $0 \le \sigma^* .$

 (A_4) . $\sum_{i=0}^n a_i(t, x, \zeta_0, \zeta; u) \zeta_i \ge [g_2(u)](t)[|\zeta_0|^p + |\zeta|^p] - [k_2(u)](t, x)$ where $k_2(u) \in L^1(Q_T)$ satisfies with some positive constant $\sigma , <math>t \in [0, T]$

$$||k_2(u)||_{L^1(Q_t)} \le \operatorname{const} [1+||u||_{L^p(0,t;V)}]^{\sigma} \quad t \in [0,T].$$

 (A_5) . There exists $\delta > 0$ such that if $(u_k) \to u$ weakly in $L^p(0,T;V)$, strongly in $L^p(0,T;W^{1-\delta,p}(\Omega)), (\zeta_0^k) \to \zeta_0$ in $\mathbb R$ and $(\zeta^k) \to \zeta$ in $\mathbb R^n$ then for a.e. $(t,x) \in Q_T$

$$\lim_{k \to \infty} a_i(t, x, \zeta_0^k, \zeta^k; u_k) = a_i(t, x, \zeta_0, \zeta; u).$$

Remark 1. Assumption (A_5) is weaker than the corresponding assumption in [4] thus equation (1.1) may contain more general "nonlocal" terms in the present paper. (See the examples in Section 3.)

Definition Assuming (A_1) - (A_5) , define operator $A: L^p(0,T;V) \to L^q(0,T;V^*)$ by

$$[A(u), v] = \int_{Q_T} \left\{ \sum_{i=1}^n a_i(t, x, u, Du; u) D_i v + a_0(t, x, u, Du; u) v \right\} dt dx$$
 (2.3)

where the brackets $[\cdot,\cdot]$ mean the dualities in spaces $L^q(0,T;V^*)$, $L^p(0,T;V)$.

By using the theory of monotone type operators, one can prove the following modifications of Theorems 1.2, 2.1 in [4]. (See [5].)

Theorem 2.1. Assume (A_1) - (A_5) . Then for any $f \in L^q(0,T;V^*)$ and $u_0 \in L^2(\Omega)$ there exists $u \in L^p(0,T;V)$ such that $D_t u \in L^q(0,T;V^*)$,

$$D_t u + A(u) = f, \quad u(0) = u_0.$$
 (2.4)

Now we formulate an existence theorem in $(0, \infty)$. Denote by $L_{loc}^p(0, \infty; V)$ the set of functions $u:(0,\infty)\to V$ such that for each fixed finite $T>0,\,u|_{(0,T)}\in L^p(0,T;V)$ and let $Q_{\infty}=(0,\infty)\times\Omega$, $L^{\alpha}_{loc}(Q_{\infty})$ the set of functions $u:Q_{\infty}\to\mathbb{R}$ such that $u|_{Q_T}\in L^{\alpha}(Q_T)$ for any finite T.

Theorem 2.2. Assume that the functions

$$a_i: Q_\infty \times \mathbb{R}^{n+1} \times L^p_{loc}(0,\infty;V) \to \mathbb{R}$$

satisfy the assumptions (A_1) - (A_5) for any finite T and that $a_i(t, x, \zeta_0, \zeta; u)|_{Q_T}$ depend only on $u|_{(0,T)}$ (Volterra property). Then for any $f \in L^q_{loc}(0,\infty;V^*)$, $u_0 \in L^2(\Omega)$ there exists $u \in L^p_{loc}(0,\infty;V)$ which is a solution of (2.4) for any finite T.

3. Boundedness and stabilization

Theorem 3.1. Let the assumptions of Theorem 2.2 be satisfied such that for all $u \in L^p_{loc}(0,\infty;V)$, sufficiently large t

$$[g_2(u)](t) \ge const \left[1 + \sup_{\tau \in [0,t]} y(\tau)\right]^{-\sigma^*/2}$$
 (3.1)

$$\int_{\Omega} [k_2(u)](t, x) dx \le const \left[\sup_{[0, t]} y^{\sigma/2} + \varphi(t) \sup_{[0, t]} y^{(p - \sigma^*)/2} + 1 \right]$$
(3.2)

with some positive constants where

$$y(t) = \int_{\Omega} u(t,x)^2 dx$$
, $0 < \sigma^* < p-1$, $\lim_{\infty} \varphi = 0$, $1 \le \sigma < p-\sigma^*$.

Further, $|| f(t) ||_{V^*}$ is bounded for $t \in (0, \infty)$. Then for a solution $u \in L^p_{loc}(0, \infty; V)$ of (2.4) in $(0, \infty)$, y is bounded in $(0, \infty)$.

The proof of Theorem 3.1 is the same as that of Theorem 2.3 in [4].

Theorem 3.2. Assume that the conditions of Theorem 3.1 are fulfilled with Volterra operators

$$g_1: L^p_{loc}(0,\infty;V) \cap L^\infty(0,\infty;L^2(\Omega)) \to \mathbb{R}^+,$$
 (3.3)

$$k_1: L^p_{loc}(0,\infty;V) \cap L^\infty(0,\infty;L^2(\Omega)) \to L^q(\Omega)$$
 (3.4)

such that the following monotonicity condition is satisfied:

$$\sum_{i=1}^{n} [a_i(t, x, \zeta_0, \zeta; u) - a_i(t, x, \zeta_0^{\star}, \zeta^{\star}; u)](\zeta_i - \zeta_i^{\star}) +$$
(3.5)

$$[a_0(t, x, \zeta_0, \zeta; u) - a_0(t, x, \zeta_0^{\star}, \zeta^{\star}; u)](\zeta_0 - \zeta_0^{\star}) \ge [g_2(u)](t)[|\zeta - \zeta^{\star}|^p + |\zeta_0 - \zeta_0^{\star}|^p].$$

We assume that for arbitrary fixed $u \in L^p_{loc}(0,\infty;V) \cap L^\infty(0,\infty;L^2(\Omega)), \ (\zeta_0,\zeta) \in \mathbb{R}^{n+1}, \ a.a. \ x \in \Omega$

$$\lim_{t \to \infty} a_i(t, x, \zeta_0, \zeta; u) = a_{i, \infty}(x, \zeta_0, \zeta), \quad i = 0, 1, ..., n,$$
(3.6)

exist and are finite where $a_{i,\infty}$ satisfy the Carathéodory conditions (for fixed u). Finally, there exists $f_{\infty} \in V^{\star}$ such that

$$\lim_{t \to \infty} \| f(t) - f_{\infty} \|_{V^{\star}} = 0. \tag{3.7}$$

Then for a solution $u \in L^p_{loc}(0,\infty;V)$ of (2.4) we have

$$\lim_{t \to \infty} \| u(t) - u_{\infty} \|_{L^{2}(\Omega)} = 0, \quad \lim_{T \to \infty} \int_{T-a}^{T+a} \| u(t) - u_{\infty} \|_{V}^{p} dt = 0$$
 (3.8)

for arbitrary fixed a > 0, where $u_{\infty} \in V$ is the unique solution to

$$A_{\infty}(u_{\infty}) = f_{\infty} \tag{3.9}$$

and the operator $A_{\infty}: V \to V^{\star}$ is defined (for $z, v \in V$) by

$$\langle A_{\infty}(z), v \rangle = \sum_{i=1}^{n} \int_{\Omega} a_{i,\infty}(x, z, Dz) D_{i} v dx + \int_{\Omega} a_{0,\infty}(x, z, Dz) v dx.$$
 (3.10)

Proof. It is not difficult to show that $A_{\infty}: V \to V^{\star}$ is bounded, hemicontinuous, strictly monotone and coercive which implies the existence of a unique solution of (3.9) (see, e.g., [6]).

If u is a solution of (2.4) in $(0, \infty)$ then by (3.9) one obtains

$$\langle D_t[u(t) - u_{\infty}], u(t) - u_{\infty} \rangle + \langle [A(u)](t) - A_{\infty}(u_{\infty}), u(t) - u_{\infty} \rangle =$$

$$\langle f(t) - f_{\infty}, u(t) - u_{\infty} \rangle.$$
(3.11)

By using the notation

$$\langle [A_u(u_\infty)](t), z \rangle = \int_{\Omega} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, x, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i(t, u_\infty(x), Du_\infty(x); u) D_i z dx + \frac{1}{2} \sum_{i=1}^n a_i$$

$$\int_{\Omega} a_0(t, x, u_{\infty}(x), Du_{\infty}(x); u) z dx,$$

(3.5) and Young's inequality, we obtain for the second term in (3.11)

$$\langle [A(u)](t) - A_{\infty}(u_{\infty}), u(t) - u_{\infty} \rangle = \langle [A(u)](t) - [A_{u}(u_{\infty})], u(t) - u_{\infty} \rangle + \qquad (3.12)$$

$$\langle [A_{u}(u_{\infty})](t) - A_{\infty}(u_{\infty}), u(t) - u_{\infty} \rangle \geq [g_{2}(u)](t) \| u(t) - u_{\infty} \|_{V}^{p} - \varepsilon^{p} / p \| u(t) - u_{\infty} \|_{V}^{p} - 1 / (q\varepsilon^{q}) \| [A_{u}(u_{\infty})](t) - A_{\infty}(u_{\infty}) \|_{V^{*}}^{q}$$

with arbitrary $\varepsilon > 0$. By Vitali's theorem we obtain from (A_2) , (3.3), (3.4), (3.6)

$$\lim_{t \to \infty} \| [A_u(u_\infty)](t) - A_\infty(u_\infty) \|_{V^*} = 0.$$
 (3.13)

Finally, by Young's inequality we have for the right hand side of (3.11)

$$|\langle f(t) - f_{\infty}, u(t) - u_{\infty} \rangle| \leq \varepsilon^{p}/p \parallel u(t) - u_{\infty} \parallel_{V}^{p} - 1/(q\varepsilon^{q}) \parallel f(t) - f_{\infty} \parallel_{V^{\star}}^{q}.$$

Thus, choosing sufficiently small $\varepsilon > 0$, since $\int_{\Omega} u(t,x)^2 dx$ is bounded, (3.1), (3.7), (3.11) - (3.13) and Hölder's inequality yield for $y(t) = ||u(t) - u_{\infty}||_{L^2(\Omega)}^2$

$$y'(t) + \tilde{c}y(t)^{p/2} \le y'(t) + c^* \parallel u(t) - u_\infty \parallel_V^p \le \psi(t), \tag{3.14}$$

where $\lim_{t\to\infty} \psi(t) = 0$ and c^*, \tilde{c} are positive constants. It is not difficult to show that (3.14) implies the first part of (3.8) (see [3]). Combining the first part of (3.8) and the second part of (3.14) one obtains the second part of (3.8).

Theorem 3.3. Assume that the conditions of Theorem 3.2 are fulfilled in the following modified form:

$$a_0(t, x, \zeta_0, \zeta; u) = a_0^1(t, x, \zeta_0, \zeta; u) + a_0^2(t, x, \zeta_0; u)$$
(3.15)

where a_0^1 satisfies (A_1) , (A_2) and a_0^2 satisfies

$$|a_0^2(t, x, \zeta_0; u)| \le g_1(u)|\zeta_0| + [\tilde{k}_1(u)](x)$$

with some $\tilde{k}_1(u) \in L^2(\Omega)$ and for all $u, u^*, v \in L^p_{loc}(0, \infty; V) \cap L^\infty(0, \infty; L^2(\Omega))$, $T_2 > T_1 \ge 0$,

$$\int_{T_1}^{T_2} \int_{\Omega} |a_0^2(t, x, v; u) - a_0^2(t, x, v; u^*)|^2 dt dx \le c_3^2 \int_{\max\{0, T_1 - a\}}^{T_2} \int_{\Omega} [u - u^*]^2 dt dx \quad (3.16)$$

with some constants $a, c_3 > 0$ and instead of (3.5) we have

$$\sum_{i=1}^{n} [a_i(t, x, \zeta_0, \zeta; u) - a_i(t, x, \zeta_0^{\star}, \zeta^{\star}; u)](\zeta_i - \zeta_i^{\star}) +$$
(3.17)

$$[a_0^1(t, x, \zeta_0, \zeta; u) - a_0^1(t, x, \zeta_0^{\star}, \zeta^{\star}; u)](\zeta_0 - \zeta_0^{\star})$$

$$\geq [g_2(u)](t)[|\zeta - \zeta^{\star}|^p + |\zeta_0 - \zeta_0^{\star}|^p] + c_2|\zeta_0 - \zeta_0^{\star}|^2$$

where the constant c_2 satisfies $c_2 > c_3$. Further, assume that for any fixed $u \in L^p_{loc}(0,\infty;V) \cap L^\infty(0,\infty;L^2(\Omega)), w \in V$

$$|a_i(t, x, \zeta_0, \zeta; u) - a_{i,\infty}(x, \zeta_0, \zeta)| \le \Phi(t)[|\zeta_0|^{p-1} + |\zeta|^{p-1}], \quad i = 1, ..., n,$$
 (3.18)

$$|a_0^1(t, x, \zeta_0, \zeta; u) - a_{0,\infty}^1(x, \zeta_0, \zeta)| \le \Phi(t)[|\zeta_0|^{p-1} + |\zeta|^{p-1}],$$

$$|a_0^2(t,x,\zeta_0;w) - a_{0,\infty}^2(x;w)| \le \Phi(t)(1+|\zeta_0|), \quad \| \ f(t) - f_\infty \ \|_{V^\star} \le \Phi(t)$$

with limit functions $a_{0,\infty}^1:\Omega\times\mathbb{R}^{n+1}\to\mathbb{R},\ a_{0,\infty}^2:\Omega\times V\to\mathbb{R}$ where

$$\lim_{\infty} \Phi = 0, \quad \int_{0}^{\infty} \Phi(t)^{q} dt < \infty. \tag{3.19}$$

Then for a solution of (2.4) in $(0, \infty)$ we have

$$\int_{0}^{\infty} \| u(t) - u_{\infty} \|_{V}^{p} dt < \infty, \quad \int_{0}^{\infty} \| u(t) - u_{\infty} \|_{L^{2}(\Omega)}^{2} dt < \infty, \tag{3.20}$$

$$\lim_{t \to \infty} \| u(t) - u_{\infty} \|_{L^{2}(\Omega)} = 0, \tag{3.21}$$

$$\int_{T}^{\infty} \| u(t) - u_{\infty} \|_{L^{2}(\Omega)}^{2} dt \le const \left\{ e^{-\gamma T} + \int_{0}^{T} \left[e^{-\gamma (T-t)} \int_{t}^{\infty} \Phi(\tau)^{q} d\tau \right] dt \right\}$$
(3.22)

with some constant $\gamma > 0$ where $u_{\infty} \in V$ is the unique solution to

$$A_{\infty}(u_{\infty}) = f_{\infty} \tag{3.23}$$

and the operator $A_{\infty}: V \to V^{\star}$ is defined for $z, v \in V$ by

$$\langle A_{\infty}(z), v \rangle = \sum_{i=1}^{n} \int_{\Omega} a_{i,\infty}(x, z, Dz) D_i v dx + \int_{\Omega} a_{0,\infty}^1(x, z, Dz) v dx + \int_{\Omega} a_{0,\infty}^2(x, z) v dx.$$

Proof Integrating (3.11) over (T_1, T_2) , one obtains by (3.16) for $y(t) = \int_{\Omega} [u(t, x) - u_{\infty}]^2 dx$ (by using Young's inequality, similarly to (3.14))

$$y(T_2) - y(T_1) + c^* \int_{T_1}^{T_2} \| u(t) - u_\infty \|_V^p dt + c_2 \int_{T_1}^{T_2} y(t) dt -$$
 (3.24)

$$\left[\int_{T_1}^{T_2} \int_{\Omega} |a_0^2(t,x,u;u) - a_0^2(t,x,u;u_\infty)|^2 dt dx \right]^{1/2} \left[\int_{T_1}^{T_2} y dt \right]^{1/2} \leq \int_{T_1}^{T_2} \Phi^q dt.$$

Since y is bounded, (3.16), (3.24) with $T_1 = 0$ and $c_2 > c_3$ and (3.19) imply (3.20). Further, by (3.20), (3.16)

$$\int_{0}^{\infty} \int_{\Omega} |a_0^2(t, x, u; u) - a_0^2(t, x, u; u_{\infty})|^2 dt dx < \infty$$

thus (3.20), (3.24) imply (3.21). Because, first observe that by (3.20)

$$\liminf_{t \to \infty} y(t) = 0$$

Hence there exist

$$T_1 < T_2 < \dots < T_k < \dots \rightarrow +\infty$$
 such that $\lim_{k \to \infty} y(T_k) = 0$.

Applying (3.24) to $T_1 = T_k$ and $T_2 = T$ with $T > T_k$, we obtain

$$0 \le y(T) \le y(T_k) + a_k$$
 where $\lim_{k \to \infty} a_k = 0$

and so $\lim_{\infty} y = 0$.

Finally, from (3.16), (3.21), (3.24) we obtain (for $T_1 > a$) as $T_2 \to \infty$

$$-y(T_1) + c^* \int_{T_1}^{\infty} \| u(t) - u_{\infty} \|_V^p dt + c_2 \int_{T_1}^{\infty} y dt -$$

$$c_3 \left[\int_{T_1 - a}^{\infty} y dt \right]^{1/2} \left[\int_{T_1}^{\infty} y dt \right]^{1/2} \le \operatorname{const} \int_{T_1}^{\infty} \Phi(t)^q dt.$$

Hence, by using the notation $Y(T) = \int_{T}^{\infty} y(t)dt$,

$$Y'(T_1) + (c_2 - c_3/2)Y(T_1) - (c_3/2)Y(T_1 - a) \le$$

$$Y'(T_1) + c_2Y(T_1) - c_3Y(T_1 - a)^{1/2}Y(T_1)^{1/2} \le \text{const} \int_{T_1}^{\infty} \Phi^q dt.$$
(3.25)

Since the real part of the roots of the characteristic equation

$$\lambda + (c_2 - c_3/2) - (c_3/2)e^{-\lambda} = 0$$

is negative, we obtain for the solution of (3.25) the inequality (3.22). **Examples** In [4] examples of the following type were considered:

$$a_{i}(t, x, \zeta_{0}, \zeta; u) = b(t, x, [H(u)](t, x))\zeta_{i}|\zeta|^{p-2}, \quad i = 1, ..., n,$$

$$a_{0}(t, x, \zeta_{0}, \zeta; u) = b_{0}(t, x, [H_{0}(u)](t, x))\zeta_{0}|\zeta_{0}|^{p-2} +$$

$$\hat{b}_{0}(t, x, [F_{0}(u)](t, x))\hat{\alpha}_{0}(t, x, \zeta_{0}, \zeta)$$

where $b, b_0, \hat{b}_0, \hat{\alpha}_0$ are Carathéodory functions satisfying

$$b(t, x, \theta) \ge \frac{c_2}{1 + |\theta|^{\sigma^*}}, \quad b_0(t, x, \theta) \ge \frac{c_2}{1 + |\theta|^{\sigma^*}}$$

with some positive constants $c_2, \sigma^* ,$

$$|\hat{b}_0(t, x, \theta)| \le 1 + |\theta|^{p-1-\rho^*}$$
 with $\rho^* < p-1$

and

$$|\hat{\alpha}_0(t, x, \zeta_0, \zeta)| \le c_1(|\zeta_0|^{\hat{\rho}} + |\zeta|^{\hat{\rho}}), \quad \sigma^* + \hat{\rho} < \rho^*, \quad \hat{\rho} \ge 0.$$

Finally,

$$H, H_0: L^p(0,T;V) \to C(\overline{Q_T}), \quad F_0: L^p(0,T;V) \to L^p(Q_T)$$

are linear continuous operators of Volterra type.

One can show that the examples of the above type satisfy the conditions of the above existence theorems in the case when

$$H, H_0: L^p(Q_T) \to L^p(Q_T)$$

are continuous linear operators (for a fixed T > 0 or arbitrary finite T > 0, respectively) and b, b_0 are bounded. Thus, H and H_0 may have more general forms: also the forms, formulated in [4] for F_0 . It is not difficult to formulate conditions on H, H_0, F_0 and $\hat{b}_0, \hat{\alpha}_0$ which imply the conditions of theorems on boundedness and stabilization of solutions.

4. Periodic solutions

Now consider equation (1.1) in the following modified form:

$$D_t u - \sum_{i=1}^n D_i[a_i(t, x, u, Du; u_t)] + a_0(t, x, u, Du; u_t) = f \text{ with } u_0 = \psi$$
 (4.1)

where $u_t(s) = u(t+s)$, $s \in (-a,0)$ and $a_i : Q_T \times \mathbb{R}^{n+1} \times L^p(-a,0;V) \to \mathbb{R}$, $\psi \in L^p(-a,0;V)$ are given functions and we want to find $u \in L^p_{loc}(-a,\infty;V)$ satisfying (4.1) in weak sense. We shall show that for some ψ there exists a T-periodic solution.

Theorem 4.1. Assume that functions a_i satisfy (A_1) - (A_5) in the following modified form: the last term in a_i is $u_t \in L^p(-a,0;V)$ instead of $u \in L^p(0,T;V)$ and in (A_5) instead of weak convergence in $L^p(0,T;V)$ and strong convergence in $L^p(0,T;W^{1-\delta,p}(\Omega))$ we write weak convergence in $L^p(-a,0;V)$ and strong convergence in $L^p(-a,0;W^{1-\delta,p}(\Omega))$, respectively.

Then there exists $u \in L^p(-a,T;V)$ such that $D_t u \in L^q(-a,T;V^*)$,

$$D_t u + A(u) = f \text{ for } t \in (0, T), \quad u(t) = u(t+T) \text{ for } t \in [-a, 0]$$
 (4.2)

where operator $A: L^p(0,T;V) \to L^q(0,T;V^*)$ is defined by (2.3) such that the terms u after ";" are substituted by u_t , i.e.

$$[A(u), v] = \int_{Q_T} \left[\sum_{i=1}^n a_i(t, x, u, Du; u_t) D_i v + a_0(t, x, u, Du; u_t) v \right] dt dx.$$

Proof Define operator \tilde{A} for $u, v \in L^p(0, T; V)$ by

$$[\tilde{A}(u), v] = \int_{Q_T} \left[\sum_{i=1}^n a_i(t, x, u, Du; (Pu)_t) D_i v + a_0(t, x, u, Du; (Pu)_t) v \right] dt dx$$

where

$$(Pu)(t) = u(t + kT)$$
 if $t + kT \in (0, T)$ for some $k = 0, 1, ...$

Then \tilde{A} is bounded, demicontinuous, pseudomonotone with respect to

$$D(L) = \{ u \in L^p(0,T;V) : D_t u \in L^q(0,T;V^*), u(T) = u(0) \}$$

where D(L) is the domain of the maximal monotone closed densely defined operator $L = D_t$. Consequently, for any $f \in L^q(0,T;V^*)$ there exists $u \in D(L)$ satisfying $D_t u + \tilde{A}(u) = f$ for $t \in (0,T)$. (See [2], [6].). Then, clearly, $Pu \in L^p(-a,T;V)$ satisfies $D_t u \in L^q(-a,T;V^*)$ and (4.2).

From Theorem 4.1 immediately follows

Theorem 4.2. Assume that

$$a_i: Q_{\infty} \times \mathbb{R}^{n+1} \times L^p(-a,0;V) \to \mathbb{R}$$

satisfy the conditions of Theorem 2.2 and a_i , f are T-periodic in t:

$$a_i(t+T, x, \zeta_0, \zeta; w) = a_i(t, x, \zeta_0, \zeta; w), \quad f(t+T) = f(t)$$

for a.e. $(t,x) \in Q_{\infty}$, all $(\zeta_0,\zeta) \in \mathbb{R}^{n+1}$, $w \in L^p(-a,0;V)$. Then there exists $u \in L^p_{loc}(-a,\infty;V)$ such that $D_t u \in L^q_{loc}(-a,\infty;V^{\star})$,

$$D_t u + A(u) = f$$
, $u(t) = u(t+T)$ for $t \in (0, \infty)$.

References

- [1] R. A. Adams, Sobolev spaces, Academic Press, New York San Francisco London, 1975.
- [2] J. Berkovits, V. Mustonen, Topological degree for perturbations of linear maximal monotone mappings and applications to a class of parabolic problems, Rend. Mat. Ser. VII, 12, Roma (1992) 597-621.

- [3] L. Simon, On different types of nonlinear parabolic functional differential equations, Pure Math. Appl. 9 (1998) 181-192.
- [4] L. Simon, W. Jäger, On non-uniformly parabolic functional differential equations, Studia Sci. Math. Hungar. 45 (2008) 285-300.
- [5] L. Simon, On nonlinear functional parabolic equations, Proc. IMSE 2008, Santander, to appear.
- [6] E. Zeidler, Nonlinear functional analysis and its applications II A and II B, Springer, 1990.